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Answe1 ALL questlons :' R

PART A— (10 X2= 20 malks)

Defme the terms Module Rehablhty and Module Avaﬂablllty

State Amdahl’s 1aw

Tow many bits are'in the 0, 2) br anch predictor w1th 4K entrles'? How many
: entnes are in a (2, 2) predictor with the same number of blts‘? S

'What is meant by dynamm branch predlctlon'f‘

Specify the henefits of data level parallelism over Instmctlon Ievel palaﬂelism -
Specify an alchltecture that supports data-level parallehsm

How does dlstnbuted sha1ed mem01y supports thlead level pamﬂehsm"

* What is memory consistent model?

What are the standard levels of RATD?
D_ifferehtiate be_twéen throughput and response time..
PART B — (5 x 13 = 65 marks)

(a). @) - Dxplam how management of mput-output device 1nte1face'
1mp10v1se the performance of a computing processor. 8

(i) How to measure the performance of a desk top system using SPEC
benchmark? E _ , . By

Or

~(b) Discuss in detail about the quantitative principles of computer design.(13)"
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o Explain the basic compiler.techniques for exbloiting: ILP. - 9

(ii) Brieﬂy explain static branch prediction technique. _ ' {4)
How to overcome data hazalds Wlth dynamlc scheduhng‘? Explam in

. detaﬂ . : . . ' (13)
(i_). Compale supe1 scalar archltectule w1th super p1pehne alchltectule 7
o L _ _ - (6)

h (11) Explaln loop level pa1aHehsn1 L o - _ - - O

: Explai'n'\'rec':to'r"archi‘i:ecturerin deﬁ'ail .

How to measure the performance of symmetnc shaled multlplocessms'?

(13)

: : s X . -

Explam the models of mem01y consnstenoy Dlscuss the issues in each

!

Explam cache optlmlzatlon techmques -  (1)

.Suppose a processm sends 80 dlSk T/Os per second these 1equests are

exponentially dlstrlbuted and the average service tlme of an older’ dlsk is

L 25 ms, _ o
-'Answer the followmg questlons

o _'(i)' .'__On avelage how utxhzed is the dlsk" N o :(4).

@) What is the average time Spent in the queue" R @

o (iii) What is the aver age 1esponse time for a disk. 1equest mcludmg the

@

2

queuing tnne and disk service tlme‘? R (5)
PART C — (1 % 15 15 ma1ks)

Explam the supp01t of ILP to explmt thread level para]lehsm with an
111ustrat1on '

Or

Explain performance issues in distributed shared memory.
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